sEZ8# INFORMATION

WKz bhFE
RESISTANCE TAPER

ABEMELFE
Taperd Curve : A
100
3
S 90
)
e fea)
2|2 70
55
212 6
5ls //
alhe 50 30A
S
Si= 25A[ M ///
40
20A[< Y
i \’//4/
|7 30
£z V. /f I5A (JIS'A)
=] p M 0\
EE 20 v Y Y 0A(ISD)
0 A " 05A (JIS'G)
= | |
0 10 20 30 4 50 60 70 80 90 100
TERM.1 Effective rotational angle (%) TERM.3
50%m %y TFE © ABEMELiFE
Taperd Curve : A with 50% Tap
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Taperd Curve : C
100
B2
o
S 90
> 80 —1
[<3yes]
Qe
301 {32
i pes )
912 60
- \ | |00
(29 [o% p ]
S w0 \\\&\ /| 25C(JIS'E)
77 N 2
:E 30 \\ \\‘\ 200
iE NN
| 20 FI5C (JIS'C)4 N
ge . \\\ N
0 0 [ NI\ AN
T yid \\ N
05C —
A o
0 10 20 30 40 S0 60 70 80 90 100
TERM.1 Effective rotational angle (%) TERM.3
QEMEILIFEICONT

EREFEE. # (L) eREOMBEICES. HEDK
B (RF1E2ENBEABIHF2 &3 ENE) OBEEAEL.
WF1EIEDEDEREICHTIENREHEET 3,

B BIEME LI
Taperd Curve : B
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Taperd Curve : B with 50% Tap
100
N3
8 % 2/
- V4
- 8 yiv4.
/4
e /|
ggn /
P =
i e
g2 e
§§ 50 UBM\
e | BM| .
gz -
T 20 2BM .
&l ] 3BM
EZ , 4 //] D 4au
[=1i= V // N |
10 /// / N 5BM
» |
0 10 20 30 40 50 60 70 80 90 100
TERM.1 Effective rotational angle (%) TERM.3
M- N2 L4 1E
Taperd Curve : M-N
ve s 100
B VAN
g S 4
- /AR
80
oo olo
95 g
3|5 Bl > 2
= = =)
[
DD D2
= e / \
SERSE R
N | ,
DA / \
—— N[~
I )
== == / \
o paled
5 J=S RN PS | 25
=& B 20 / \
= = 10 / \

0 10 20 30 40 50 60 70 8 90 100

TERM.1 Effective rotational angle (%) TERM.3
@Resistance taper
The resistance taper, with the shaft (lever) placed in the specified
position, shall be determined by measuring the voltage between
specified terminals (between terminals 1 and 2 or between
terminals 2 and 3) and calculating the percentage in reference to
the voltage between terminals 1 and 3.



